Решение:

Вариант 1. Программа с использованием процедуры:

Program Ex_1;

Var x, y, z: integer;

P, p1, p2, p3: Longint;

Procedure Factorial (x: integer; Var p: Longint);

Var i: integer;

Begin

         P:= 1;

          For i:= 1 To x Do p:= p*i

End;

Begin

    Write (‘x=’); Readln (x);

     Write (‘y=’); Readln (y);

     Write (‘z=’); Readln (z);

         P:=0;

         Factorial (x, p1);

         Factorial (y, p2);

          Factorial (x + z, p3);

          P:= p+p1 + 2*p2 – p3;

          Writeln (‘p=’, p);

Readln

End.

Вариант 2. Программа с использованием функции:

Program Ex_2;

Var x, y, z: integer;

P, p1, p2, p3: Longint;

Function Factorial (x: integer) : Longint;

Var i: iInteger; p: Longint;
Begin

         P:= 1;

          For i:= 1 To x Do p:= p*I;

          Factorial := p
End;

Begin

    Write (‘x=’); Readln (x);

     Write (‘y=’); Readln (y);

     Write (‘z=’); Readln (z);

         P:=0;

         P1 := Factorial (x);

         P2 := Factorial (y);

          P3 := Factorial (x + z);

          P:= p+p1 + 2*p2 – p3;

          Writeln (‘p=’, p);

Readln
End.

